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QUESTION 1

What does a structured node contain? (Choose two) 

A. edges 

B. states 

C. nodes 

D. lifelines 

E. classes 

F. messages 

Correct Answer: AC 

 

QUESTION 2

What situation results from an ApplyFunctionAction? 

A. produces output values 

B. performs any set of UML actions 

C. reads objects and produces output values 

D. writes objects and produces output values 

E. reads objects, write objects, and produces output values 

Correct Answer: A 

 

QUESTION 3

Why are profiles NOT a first class extension mechanism? 

A. They do not allow for modifying existing stereotypes. 

B. They do not allow for modifying existing metamodels. 

C. They do not permit customizing for domains, platforms, and methods. 

D. They permit removing constraints that apply to existing metamodels. 

Correct Answer: B 

 

QUESTION 4
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What represents the deployment target of a deployed artifact? 

A. a shared aggregation relationship 

B. the location of the deployed artifact 

C. the deployed artifact\\'s output data stream 

D. a node instance, but never a property instance 

Correct Answer: B 

 

QUESTION 5

What types of features may a component possess? 

A. attributes and operations 

B. attributes, but not operations 

C. operations, but not attributes 

D. neither attributes nor operations 

Correct Answer: A 
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